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01 inti, a[101];
02 a[0] =
03 for (i=1; i<=100; i++)
04 a[i] = 2*i + a[i-1];
05 printf("%d\n", a[87]+a[31]);

5 [5] R T e R ErmE s BEfod] Bt

01 void findMinMax(int n, int data[], min, max ) {
02 int i;
03 = = data[0];

04 for (i=1; i<n; i++)

05 if (data[i]< )

06 = datal[i];

07 else if (data[i]> )
08 = datal[i];

09 }

6. [5] 3 15 7|0 ehswitch 4cit 2 B T 7 S50
01 char convertGrade(int score) {
02 if ((score >= 90)&&(score <= 100))

03 return 'A'";

04 else if (score >= 80)
05 return 'B';

06 else if (score >= 70)
07 return 'C';

08 else

09 return 'F";

10 }
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a) [5] #4538 &3¢ intged(inta, intb); 3-8 5 BFEHOE < 2FH AP axb> TP v @@

b) [5] 3£ 8 &3¢ intdivides(int lenl, char strl[], int len2, int str2[]); #RJ3# strl "5 d - str1[0]
Flstrl[lenl-1]iz B & & lenl e3Rix 3 8 §_% n\fﬂf str2 LA £ R len2 éhF B0 A R strl
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char *gcdStrings(char *strl, char *str2) {
int len1=0, len2=0, tmpl, g, f;
char *tmpS;
while (str1[len1]!=0) len1++;
while (str2[len2]!=0) len2++;
if(len2>lenl) {// F & str2 eh& B <= F 8 strl ek &
tmpS=strl; strl=str2; str2=tmpS;
tmpl=lenl; lenl=len2; len2=tmpl;
h
if (Ien2>0) {
g = gcd(lenl, len2);
[/ & b — ] A divides() S5t d * T RIEEATS 2&?“,% g
/] e R str2 S F R A E %;_ﬂf str2 11 % strl
/! ﬂia?J:".?‘ﬁ— [ R W pE S
h
str2[0] ="*', str2[1] = 0;

return str2;

int main() {
char str1[1001], str2[1001];
while (2==scanf("%1000s%1000s", strl, str2))
printf("%s\n", gcdStrings(strl, str2));

return 0;
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